
 

 

 Half plus another half. 

 

  Double one. 

The difference between 15 

 and 16. 

  

  Half of 4. 

 

How many fewer is 8 than 9 ? 

 

  14 – 12 = 

 

 Subtract 13 from 14. 

 

  11 – 10 + 1 = 

 

 What is half of two ? 

   What does 19 minus 17  

   make ? 

 

12 take away 11 is how many ? 

 

12 take away 10 leaves what ? 

  

  18 – 17 = 

 

What is the total of 1 and 1 ? 

 

How many more is 10 than 9 ? 

 

 What is 1 plus 1 ?  

  

  3 + 4 – 6 = 

Take 10 from 19 and then 

take away another 7. 

Fred has 9 sweets.  He gives 4 to 

Bob and 4 to Ann.  How many 

sweets does he have left ? 

On Monday the queen bee lays an egg 

in each of 5 hexagons.  On Friday 3 

eggs hatch.  How many eggs have not 

hatched ? 



 

 15 take away 12 makes ? 

 

  Double two. 

The difference between 5 

 and 8 is . . . 

  

  Half of 8. 

 

How many fewer is 9 than 12 ? 

 

  13 – 9 = 

 

 Subtract 8 from 11. 

 

  15 – 13 + 2 = 

 

 What is half of six ? 

   What does 11 minus 7  

   make ? 

 

17 take away 14 is how many ? 

 

12 take away 8 leaves what ? 

  

  7 + 2 – 6 = 

 

What is the total of 1 and 3 ? 

 

How many more is 16 than 13 ? 

 

 What is 3 plus 1 ?  

  

  19 + 4 – 20 = 

Take 12 from 19 and then 

take away another 3. 

Helen is 7 years old.  Her sister 

Mary is 4 years younger.  How old 

is Mary ? 

I ride my bike 2 km to Nailsea.  Then 

I ride 2 km back home again.   

How many kilometres did I ride 

altogether? 

 



 

 15 take away 10 makes ? 

 

  Double three. 

The difference between 11 

 and 16 is . . . 

  

  Half of 12. 

 

How many fewer is 4 than 9 ? 

 

  13 – 7 = 

 

 Subtract 6 from 11. 

 

  16 – 14 + 4 = 

 

 What is half of ten ? 

   What does 8 minus 2  

   make ? 

 

12 take away 7 is how many ? 

 

18 take away 12 leaves what ? 

  

  11 + 4 – 10 = 

 

What is the total of 4 and 2 ? 

 

How many more is 17 than 12 ? 

 

 What is 2 plus 5 ?  

  

  17 + 8 – 20 = 

Take 11 from 20 and then 

take away another 2. 

In my pencil case I have 2 yellow 

pencils, 1 blue pencil and 2 red pencils. 

How many pencils do I have in total ? 

On Monday Dan’s plant had 3 leaves.  

A week later it had 9 leaves.  How 

many new leaves had it grown during 

the week ? 

 



 

 15 take away 8 makes ? 

 

  Double four. 

The difference between 9 

 and 2 is . . . 

  

  Half of 16. 

 

How many fewer is 6 than 13 ? 

 

  11 + 3 - 14 = 

 

 Subtract 9 from 16. 

 

  17 – 16 - 1 = 

 

What is half of fourteen ? 

   What does 12 minus 4  

   make ? 

 

11 take away 4 is how many ? 

 

13 take away 5 leaves what ? 

  

  10 + 9 – 11 = 

 

What is the total of 7 and 2 ? 

 

How many more is 15 than 7 ? 

 

 What is 5 plus 4 ?  

  

  12 + 5 – 9 = 

Take 12 from 18 and then 

take away another 6. 

Janet has three hamsters and five 

goldfish.  How many pets does she have 

in total ? 

My Mum bought a box of 12 cakes.  My 

Dad ate 3, I ate 2, my brother ate 2 

and our dog ate the rest.  How many 

cakes are left ? 

 



 

 18 take away 9 makes ? 

 

  Double five. 

The difference between 13 

 and 4 is . . . 

  

  Half of 20. 

 

How many fewer is 9 than 19 ? 

 

  13 – 3 = 

 

 Subtract 3 from 12. 

 

  15 – 8 + 3 = 

 

 What is half of eighteen ? 

   What does 20 minus 9  

   make ? 

 

17 take away 6 is how many ? 

 

19 take away 7 leaves what ? 

  

  7 + 2 + 2 = 

 

What is the total of 7 and 4 ? 

 

How many more is 16 than 5 ? 

 

 What is 3 plus 8 ?  

  

  18 + 4 – 10 = 

Take 2 from 17 and then take 

away another 3. 

 

How many months are there in one 

year? 

On my way home, I pass 5 bungalows 

and then I pass 6 houses.  Just before 

I reach home I pass 1 shop.  How many 

buildings have I passed ? 

 



 

 15 take away 4 makes ? 

 

  Double seven. 

The difference between 5 

 and 18 is . . . 

  

  Half of 24. 

 

How many fewer is 7 than 20 ? 

 

  20 – 6 = 

 

 Subtract 6 from 19. 

 

  19 – 13 + 8 = 

 

 5 + 3 + 5 = 

   What does 18 minus 4  

   make ? 

 

17 take away 2 is how many ? 

 

26 take away 10 leaves what ? 

  

  18 + 2 – 5 = 

 

What is the total of 7 and 9 ? 

 

How many more is 25 than 10 ? 

 

 What is 11 plus 5 ?  

  

  19 + 4 – 6 = 

Take 3 from 24 and then take 

away another 3. 

Jane, Simon and Tom have 5 marbles 

each.  How many marbles do they have 

altogether ? 

20 balloons are blown up for a party.  

During the party 4 balloons burst.  

How many balloons are still inflated at 

the end of the party ? 

 



 

 21 take away 4 makes ? 

 

  Double nine. 

 

 Add 5 and 8 and 4. 

  

  6 + 6 + 6 = 

 

How many fewer is 3 than 20 ? 

 

  22 – 4 = 

 

 Subtract 3 from 22. 

 

  18 – 11 + 12 = 

 

 What is half of forty ? 

   What does 11 plus 9  

   make ? 

 

 5 + 11 + 3 = 

 

 Double ten. 

  

  7 + 2 – 6 = 

 

What is the total of 7 and 4 ? 

 

How many more is 19 than 13 ? 

 

 What is 3 plus 2 ?  

  

  23 + 4 – 20 = 

Take 7 from 19 and then take 

away another 4. 

Peter is 97 cm tall.  Jess is 98 cm 

tall.  How much taller is Jess than 

Peter ? 

 

How many weeks are there in a 

fortnight ? 

 


